Connect Four Game
Filename: game
The Problem
Peter and Cottontail are passing the time playing games of Connect 4. Except they don’t have a Connect 4 board in their cage, yikes! They have enlisted your help to play the game. Cottontail will always move first followed by Peter. Player’s pieces are placed in the lowest-most open square in the selected column. Columns are numbered left to right from 1 to 7.  The rabbits will give you the column they want to move in binary by turning three carrots.  A carrot facing up and down is 1 and a carrot facing left and right is a 0. Because the game has 7 columns, they will use 3 carrots to represent their move. The first carrot will be the 4’s place the second will be the 2’s place and last carrot will be the 1’s place. Your job is to display the board after you have made these moves.
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The Input
The first line contains a single integer T (1≤T≤100) representing the number of test cases. Each of the following test cases begins with a single integer N (0≤N≤42) representing the number of moves in the current test case. Each of the next N lines will have 3 characters on it either ‘|’ (pipeline operator) or a ‘-’ (dash) each representing a carrot as described above.
The Output
For each test case output the board described by the input followed by a single new line. Use P for Peter's piece, C for Cottontail's piece and _ for a blank square.
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Sample Output
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